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The ftgures in t?ze margin indicctte fttll mn.rks

far the qu.estions

1. (a) 13E fi 'rleq fi"lT : Lx4=4

Write True or },'alse :

(L) Rffi <ft el<i 1.rynr $Ti q{ \r-is s*{ {{
C<ITE I

The year in '*,hich incotne is carried
is called Assessment Year.

(irj <r&{ sr<Tfrs ft& qr+ <lfi{gt ecs r

Residential status of a person is
sarne as nationality.
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(Itl/ k3':{-{ ql{{ {"+TEI '{l{5 ry1F <'{'CqTsll I

A11 allowances of sa1ary income are

fully taxable.

(iul e?+f,< $eir D{src-{ qrc<TPtu s-.4'1

Municipal tax
Government.

is levied by the

(b) B"rp *rc,r< clTfi] 5R 5 ren , tx4=4

Fill in the blanks with appropriate
word(s) :

(4 fr q{ fiv.roR r?r ekT"l 4-{'o <Id q{

codre 
-- 

cff{ |

The assessee who fails to PaY tax is
called

fi, 'tss-+< qd i<q 
-- 

I

The terrn arising means to ---.
(iil) 

- 

qks <EfF5 b"iq--{ $-{({TEI I

Gift in kintl in excess of 
-- 

is

taxable.

/iul xI;rc \q-g.| 

-- 
frt<q ar{ t

Standard rent is fixed as Per ----'

2. 5T 6rfl frqr ,

Write short notes on :

(a) $-{ <{
Assessrnent Year

4x4=ltt
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(b)

Person

(c) q<-{G <lTEf{

Rent-free Accommodation

(d) tlr<I 24< qfr<'o- 6{qR

Deduction under Section 24

_____L<lls

3. (a)

4. (a)

Rt cf,q ffine-{ q$frs frB c+.r+ts listq
TEI q{ ?

How will you deterrnine the residential
status of Hindu undivided family?

qw/or

sT<tfiTftefhroftpt? ,{v_{ <rk mE{T
q<fi fte qTEm.rsrr< q$fr"{qr $ ftK}lt

9

+3.1 q{ ?

What do you mean by
status? When is an
considered as resident
ordinarily resident in India?

3+6=9

residential
individual
but not

eR{ro frfq ft ? ER{lro frtfi ft&n srmq13
GE^ls Is ? 3+9=12

What do you mean by provident fund?
What are its different types?
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qffit/ or

(b) & <clt e<r{frfte etr mr"nfu +Sr? r

css"q gkrrt q<} q<Tql -qaq fr"<<"f rr-qs Srg"{

+xr {q :

Shree Ramesh is an employee of
Guwahati-based company. He provides
the following particulars of his salary
income:

1E 6aq1-15,O00 F{T a& xr-q

Basic salary-T 15,000 p.m.

6{HID-15,000 b$l

Bonus-T 15,000

ffiqsr< -rqR-+o,ooo f+T

Comrnission on turnover-T 40,000

frcilrr$-sR q-slTo Tq arT{ a6a I 'frqq

stg} 24,000 r$.t frffiqsER g?.T{ T,r{

Rent-free house is provided by
employer. Lease rent paid by
employer-{ 24,OOO

{]-oRs <F.D--2,000 F+t gfb sr(q

Transport allowances-T 2,000 p.m.

frfrqq frs< W-rT FrsT 1frr
(frcmrr+trc {Fs R{ er€s $Tr q{)-
24,OOO t+] AB <qc<
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Free education facility of three
children (bill issued in the name of
employer)-T 24,OOA p.a.

qq. fi. qrF.< IF 12% EFE 24,ooo ?+l
cefuB q<Iq'E

Interest credited to RpF @t2o/o
amounted to { 24,000

1.s frBr< srslTo <;&rro qr+ +ffrqvq
<r<qffi {tr< fr {tr{ fl'q, frr$rr$6R
ry1j rnu {q{ sr<
Free use of motorcar, l.g iiter
capacity, is used for both office and
personal purposes, expenses met by
employer

1ft +<__s,ooo tr$l

Professional tax-T 3,000

T< <{ 2o2a-24 E css'{ rE{qK eKI cqr<t qE
fr=r"r< qq-lro qm frq"tq T-fl r

Compute his income under the head
Income from Salary for the Assessment
Year 2A23-24.

5. (a) T<< r-t&{ ffiI cRr"<T qtT{ qfr{s uret{rflrsr

=1g1 
BTK; <fi?[I T-fl |

State and expiain the chargeability
under the head Income from House
Property.

T2

11
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(b)

qw/or

ffi1 Er-q e<RtfrRs qfr oIq q-{fu{ I.Ifus I

csd {-qB& rrc-E 3,000 ?-+ro qgtte fras t

frflo <q<o s{& s $q =nB fq $frq r cfr<

Tq c"T< {nll t5% - Rqo <q<o $B-m

31,ooo ?sl {cs{t cfrq s{ tRrnq q({ I Tq

fi{q< <rfi 6Er<l tFK gw{mlql W
21,000 ?-+r r u{q q-tk< "rfl aqr<l qm frqk

431 I

Mr. Kamal is an owner of house

property in Guwahati' He let out the

hor*" ProPertY for a monthlY rent of

T 3,OOO. During the previous year, the

house was vacant for 3 months' The

municipal tax is 15% of the municipal
value. During the previous year, owner

paid { 31,000 as arrear of MuniciPal

taxes. Interest on loan taken for the

construction of the house payable to

< 21,00O. ComPute income from house

property.

Explain in
'transaction not

detail 'trartsfer' and
regarded as transfer'.

6. (a) ?€l-s-<' qw q€ro-{c<Tor c{rcRr-$ 6e146q4'

{-q-c6 ftsiqe< <iFllT +<} I t2
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W<{11/Or

(b) qE-<F-{ qR;rT {r{t 56(2) ft""rE Ben-q qr+r frfrt
BTKqTq< ftrm fi-'oqw< {qR fr$ I

Explain in detail the specific incomes as
mentioned uncler Section 56(2) of the
Income-tax Act.

0 cElsDFK qlqqry xrc{ ft r
What do you mean by set-off losses?

1,, eeg ftil sqq{qs "r$ fr?K q-{Rq<

(4s <wl) +-< <{ 2023-24< {a vm
fr(rqq s-{T ,

From the following information,
calculate Gross Total Income of
I\{r. Arvind (aged 45) for the
Assessment Year 2023-24 :

47. (a)

8

IRt< cqrqun
Loss from profession

r.{er$rss ffirxft {Efi q'e
Short-term capital loss

on transfer of gold

Vfr w-,s{ ft'ffi Tqqft Ets
Long-term capital gain

orr transfer of land

( (h)
1,00,000

45,000

2,30,000
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1r,q A< "m sB (t-qk1'r)
Loss from house A

A (self-occupied)

5lq,B{ "FT $fr (Elglt"4 ftfi)
Loss from house B (let-out)

Y<T r{q<. "l'fl (qrfl qw

Incorne frorn gambtring

qfifu "[EI 
qlil

Winning from lotteries

cti<T c',A<s sft
Loss from horse race

r (fn)

20,500

35,C100

25,000

1,30,000

8[i,CilC

vrqn/Or

(b) qrr,:E{ }i\el*re;r[ {ar-e ft 1.FI ? s']sstN
qE-r{li6i-i1T $ftqtT',T.Iq fi.dl t 3+9= 12

What clo you mean bY inter head

adjustment? Write down the exceptions
for inter-head acljustrnent.

***
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